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Intensiteiten op een gemiddelde werkdag, avondspits 16.00-18.00 uur


Straat  Van  Naar  Rijrichting


Aantal


motorvoertuigen


STADHOUDERSKADE


Leidseplein  +


Leidsebrug  Nassaukade  1  1987


STADHOUDERSKADE  Nassaukade


Leidseplein  +


Leidsebrug  2  1417


LEIDSEPLEIN  +


LEIDSEBRUG  Stadhouderskade


Kl.


Gartmanplantsoen  1  232


LEIDSEPLEIN  +


LEIDSEBRUG  Kl. Gartmanplantsoen  Stadhouderskade  2  466


STADHOUDERSKADE


Leidseplein  +


Leidsebrug  Hobbemastraat  1  1527


STADHOUDERSKADE  Hobbemastraat


Leidseplein  +


Leidsebrug  2  1272


KL.


GARTMANPLANTSOEN


Leidseplein  +


Leidsebrug  Weteringschans  1  232


MARNIXSTRAAT


Leidseplein  +


Leidsebrug  Leidsegracht  2  466
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